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GENERAL INSTRUCTIONS

1.  Read the instructions given on the | 1. ywf & sox o= A g yya-yiesr iR
Question Booklet and OMR Sheet before sl ?ﬁ‘dﬂ'{ﬁﬁ@{ﬁ% 3| e wfafe

starting the answers. All the entries L. .
should be filled by blue or black ball e STerET et Wt Uig U W W

0 point pen.
2. weA-Yfasw # 100 weq § it wsht yeA erframd
2. The Question Booklet contains =

100 questions and all questions are

compulsory.
3. UIw U 2 3w H 1 HIS THNIER HET

Each question is of 2 marks. There is no
negative marking.

Candidates must ensure that the Question
Booklet issued to them has all the questions.
Defective Question Booklet can be got
changed within 10 minutes.
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11.

12,

In case of any discrepancy between
English and Hindi versions of a question,
English version will be taken as correct,

wherever there are both versions.

Select and darken the circle corresponding
to the answer [(A) or (B) or (C) or (D)] in
OMR sheet.

In case more than one circles are
darkened in a question, it will not be

evaluated.

Do not make any stray marks on OMR

sheet and do not fold it.

Any candidate found removing pages from
the Question Booklet may be disqualified

and prosecuted.

Use of unfair means will disqualify the

candidate from the examination.

Cell phone, calculator or any such devices

are not allowed in the Examination Hall.

No candidate is allowed to leave the seat
before handing over the original OMR
sheet to the invigilator. Candidate can
take Question Booklet and Carbon copy of

OMR sheet.
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1. A demand curve would be positively sloped in | 1. 1 & g H 1 o3k 1 €A g I

respectof : ‘

(A)  Tnferior good () ETER

(B)  Superior good B) IBIH
(©  Giffen good © ffe ey
(D)  Bandwagon good (D) e

2. Revealed preference theory of consumer behaviour | 2. Jq4EI SHIEH 1 Wi AfvwH fagra 9 & g/

was propounded by : wfamfea T man o
(A) Paul A.Samuelson (A) WA T IRpeTeEE
(B) IR.Hicks B) SR feem

(C)  D.H.Robinson © <lua A
(D)  Don Patinkin O) TH el

3 When would you expect a demand curve to shift | 3. 319 foRe gEn W WM 9% % Y AR faeeT wt

downward ? _ ST H 2

(A)  Whenincome level rises (A) IS 3™ T W FEd g

(B)  When population increases (B) TS SHEAT sl e

(©  When consumer develops a preference (© & 39 &) B Fedt §
(D)  When income level falls (D) <T& 3T 1 wR e &

4, If consumers behave under snob-effect, with a fall | 4. Ifg IusirerT 20 39e # § @ HiEd § FE 2 W

in price, for them demand will be : ST A
{A) lower (A) wH B
(B)  unchanged (B) smfEfda '
(©  higher © =
(D)  approach zero D) A & S
5. Under a Cobb - Douglas production function 5. Teh ohid SToTH Scaie Fel
Q=AX2YBy Q=AX"YPp
if o+ =1, it depicts : ‘ ﬁwﬁa+3=1e‘f?ﬁaﬁm:
(A)  Increasing returns to scale (a) UOH = IEUH Hem
(B)  Constantreturns to scale (B) TerEH wer
(©)  Diminishing returns to scale Q) &HEE e
(D}  Outputisindeterminate (D) SeareA SAfofi| g
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10.

11.

Corner solution in consumer behaviour depicts
that:

(A}  consumer allocates budget to both Xand Y
(B)  consumer fails o allocate his budget
(C)  heallocates entire budget to one good

(D)  consumer is irrational

If under a normal production function, mP 4 is

rising, what would be the shape of AP, ?
{A) itwould be vertical

{B)  itwould be horizontal

(©  itwould be negatively sloped

(D)  itwould be positively sloped

Break-even depicts that level of output where :
(4) levelof profitis maximum

(B) levelofloss is minimum

(©) total revenue is equal to total cost

(D)  firm fully utilises its capacity

Optimum that output where :

(A) LACishigher than LMC

(B) LMCisminimum

({©) LACisequal to SAC = SMC
(D) LMCintersects LAC

Survivor method was used by George Stigler to
analyse the behaviour of a firm:

(A)  inthelongrun

(B)  intheshortrun

(©  inthe market period

(D)  inthe context of global trend

Mark-up pricing shows that each firm :
(A} sells product at the minimum price
(B)  charges certain mark-up over the average cost

(C) includes average cost and cost of
advertisement in product price

(D)  accepts the price offered by the buyer
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12.  Tf a product market is perfectly competitive, how
does increase in number of firms affect a firm'’s
market power ?

(A)  itwill tend to become infinite
(B) itwilltend to be zero

(©)  itwill proportionately increase
(D)  itwill proportionately fall

13.  Which of the following is the most effective method

for controlling monopoly ?

(A)  Levying heavy excise duty

(B)  Imposition of income tax

(©  Imposition of price control

(D)  Ratiening of product for consumers

14.  Which is the most important characteristic feature
of oligopoly market ?

(A)  inter-dependence in decision making
(B)  product differentiation

(©  freeentry of firms and exit

(D)  long- runnormal profit

15.  According to Paul M, Sweezy why is there a kink in

demand curve ?

(A) rivals react to price variation uniformly

(B)  reaction of rivals is different to different
variations

(©)  firms have a collusive behaviour

(D)  thereis limit pricing

16.  Of all types of market, which market necessitates
advertisement ?

(A)  Perfect competition

(B) Monopsony

() Monopoly

(D) Imperfectcompetition
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18.

19.

20.

21.

For the same category of labour, which is the most
important causal factor for glaring wage
differentials across the sector ?

(A)  differences in elasticity of supply
(B) rigid government policies

(C) illiteracy of labour

(D)  lack of mobility

Which economist argued that in the short run all

factors of production yield rental income ?

(A) Adam Smith

(B}  David Ricardo
© ]S Mill

(D}  Alfred Marshall

Paretian welfare economics is based on the
assumption for attaining optimum, perfect
competition prevails in :

(A) all productand input markets

(B)  productmarkets only

(©) inputmarkets only

(D) international trade

The theory of second best is based on the premise
that:

(A) attainment of optimum is not possible

(B) given the market conditions, government

alone can help in getting solution

(©)  given the marketimperfections, economy has
to find a feasible solution

(D)  for social justice, the goal of maximizing

welfare needs to be given up

Which methods are used to calculate GDP ?

(&) Income method

(B)  Expenditure method
(©) Production method
(D) Allthe above
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22. GNP depicts value of goods and services related
to:
{A) ourcitizens living across the world
(B)  people presently living in India
(©  ourcitizens and expatriates
(D)  netexports from India
23.  Recently a panel of experts has suggested that in
view of economic reforms, the base year for
estimating GDP should be shifted to:
(A) 2020-21
B) 2021-22
G 2022-23
(D) 2023-24
24.  According to Keynes which factor is responsible for
unemployment in an economy ?
(A)  Failure of government to raise taxes
(B)  Lackof effective demand
(©) Deficit financing
(D)  Flexibility of wages
25.  The Phillips curve shows that :
(A) employment level and prices are inversely
related
(B)  with economic growth price level becomes
unstable
(©) unemployment and inflation have a stable
and inverse relationship
(D) booming economies with high
unemployment leads to inflation
26. According to i’aul Samuelson trade cycles are
caused by :
(A) multiplier and accelerator, combine
(B) interaction between multiplier and
accelerator
(©) gap between Aggregate Demand and
Agpgregate Supply
(D)  speculative activities
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Tt T SIS FEgA1 a1 Harsdl & 7o § Helfow
g

(n) Tova ¥ ® w T RS 9
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(© TR AT qen fosfat @

(D) ¥Ra % Yo ¥

T 8§ e femive T | gge e ¥ T anfede
gL % 7L, TR YR i TR W] 3% (GDP) F

T ¥ SR T4 1 IS Ty
(A) 2020-21
(B) 2021-22
© 2022-23
(D) 2023 -24
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27.

28.

29.

30.

The Permanent Income Hypothesis of consumer

behaviour states that :

(A) consumption spending is associated with a
fixed level of income

(B)  consumers tailor their expenditure according
to a fixed standard of living

{O) consumption spending depends on a level
consistent with expected long run average
income of consumers

() consumption spending follows a pattern

prescribed by government

Hot money is defined as :

)

(B)

©

D)

Capital that investors regularly move between
economic and financial markets to earn profit
from the highest short term interest rates
Currency issued by the central bank against
gold reserves

Negotiable instruments supported by stock
markets

High denomination currency issued by

Federal Reserve

Liquidity trap depicts a situation where :

(A)

®)

©

()

increase in money supply tends w raise
interest rate

interest rate does not change with money
supply

interest rates are extremely low and entire
additional money supply is retained by
people

Monetary policy has maximum impact on

economy

Mundell - Flemming model shows that :

4)

®)

©

O

the behaviour of an open economy where
domestic rate of interest is higher than the
international rate

that in a smali closed economy the domestic
rate of interest tends to be equal to the world
rate

that an economy can simultaneously
maintain a flexible exchange rate and free
capital movements

itis identical with I-S - LM model
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32.

33.

The Equation for Aggregate Demand is :
@A) CH+HI+X-M)

B CH+I+G

(O CH+I+T

L) CHI+G+X-M)

According to Fisher’s Quantity Theory of money
MV +M'V’ =PT, show which of the parameters are

constant ?

@) v
B) V.V
© r
O T

According to Keynes, demand for money is
composed of transaction demand, precautionary
demand and speculative demand. Which of these
is dependent on interest rate ?

(A)  precautionary demand

(B)  transaction demand

(C)  speculative demand

(D) allof them

34.  Which of the following is a unit free number ?
{A) Standard deviation
(B)  Coefficient of variation
(O)  Both standard deviation and coefficient of
variation
(D)} Mean deviation
m35. What is level of significance in testing of
hypothesis ?
(A)  Probability of rejecting H, when itis true and
fixed atan arbitrary level
(B)  Probability of accepting Hy when it is false
and fixed atan arbitrary level
(C)  Probability of rejecting H; when itis true and
fixed atan arbitrary level
(D)  Probability of accepting H; when it is false
and fixed atan arbitrary level
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Tl HiT =R T fe &
(A) CHI+X—M)

B) C+I+G

Q C+I+T

D) C+I+G+(X-M)

fewr & [z sftam fagw & #A7ER
MV +M'V' = PT, ®I% Sifer fof 39 gHtso 8§ ®F
ol ae fer 72

@A) Vv
B V.V
© P
O T
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B e

© W HA

D) T ot

= 9 -, SR ° o g g ?
(&) o fa=e
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36.

37.

38.

39.

40.

Ina population of N units we draw a sample of size
n’ then sampling fraction is :

@ =
®m 1--
© 1-3
O

A sampling frame is :

(A)  Method of drawing sample

(B)  Total number of all possible samples
(O  Listof units of population

(D)  List of units of sample

Paasche’s index number is based on :

{A) Current year quantity

(B) Baseyearquantity

(G  Average of base and current year quantity
(D)  Geometric mean of base and current year

quantity

The coefficient of co-relation is independent of :

(A) Change of scale only

(B)  Change of origin only

(©  Neither change of scale nor change of origin
(D)  Both change of scale and origin

From the following for testing the significance of

overall regression, the test to be used is :

(A) t-test
(B) F-test
(@  X2-test
(D) Z-test
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41.  Which statement from the following is not
cotrect?
(A)  t-testis based on the assumption thatsample
is drawn from a normal population
(B)  Tippet's tables are used for random sampling
(O Binomial distribution is symmetrical if p % q
(D)  Theregression coefficient is not independent
of change of scale
42,  Paasche’s index has :
(A) Upward bias
(B} Downward bias
(©) Both upward and downward bias
(D) No bias
43.  Given the trend equation y=118.5+22x +1.4x2
with origin 1980, the trend equation with origin 1981
is :
(A) y=117.7—0.6x +1.4x2
(B) y=1221+5x+1.4x2
© y=1185+32x+1.4x?
D) y=1185+2.2x+2.4x?
44,  Ifrowsand columns are interchanged then the value
of determinate will :.
(A) Notchange
(B) Change in positive sign
(O  Notchange but sign will change
D) Zero
45.  The relation between minor M;; and cofactor Czj is
shown by :
) C;=M;
B C=0+)iM,
© C=(—1M,
D) ij':('*'l)iﬂM,'j
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fe ST FHIFI y = 1185 + 2.2x + 1422 ¥, Tt
& forrg 1980 &) Wt fag 1981 # SUAfa weiwor A1
ST TS |

(&) y=117.7—0.6x +1.4x2

(B) y=122.1+5x+1.4x>

© y=1185+32x+1.4x?

D) y=1185+2.2x+2.4x?

afq dfemal F @ | IR W # ifdl ¥ 9ed
fe=n < < arfores 1 A

(A) T e
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© & sEEa afed fag I W '
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©  C=(—1TIMy,
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46.

47.

48.

49,

Ina two industry case, for Simon-Hawkins viability

condition which is correct from the fcllowing.

l-aj; —agp
<0
@ J-ay 1-ap
l-aj; —agp
>0
®) —ay l-ap
aj;  —ap
>0
© - ap;  axp

The main error arising at the stage of ascertainment
and processing of data is:

(A) Sampling error

(B) Non-sampling error

(©  Bothsampling error and non - sampling error
(D)  Compensating error

Using base shifting method, the new base index
number is obtained from :

Old index number of current year

x 100

(A) " Tndex number of new base year
Old index number of cld year % 100

(®) Index number of new base year
New index number of current year « 100

© Index number of new base year
Index number of new base year % 100

© Old index number of old year

From the following, which is not correct about

Binomial distribution ?

(A) Itis based on the assumption of fixed and
finite number of trials

(B)  There are two mutually exclusive possible
outcomes on each trials

(©  The ocutcome of any given trial affects the
outcome on subsequent trials

(D) The probability of success and failure
remains constant from trial to trial
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2 2l ot frofa o aem-wfe=a wdea I &
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1—a;p —ap
A <0
(A) —ay; l—ap
l-a;p -—ap| 0
® —ay  1-ap)|
a —a
© 1 12)
—ay;  axp

O @ —ay)d —ay —

App.8q <0
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() feeeT e
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(©  ufrem e gon svfaeem Ffe S

D) &g e

SR T fafy & 39 R, 79 YR gusis
e fred faaa £ 7

a1 Y o [WH i G 100
(&) J9 Y U & Hhih G&A
/A FY % T Fadih el < 100
®) 75 = % geww gen
e T F T FEhE TEAT 100
© 79 74 % gohiw €I
Ta a4 & YIiE HE
X 100
O g ot 35 gy i

A g s-o, fgrg seA F I H T Al § 2
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(B) T TRIETUN < YO ST IIum g 8 |
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50.

51.

52.

53.

If 7 coins are tossed 256 times, then the expected
frequency of getting less than 3 heads is :

29
N
{B) 58

_21“_
© 256
D) 65

Which of the following relation is correct ?

(A Y234 = Y3
B Y23 = Y213
© Y13 = Y3

D) Y123 = V132

The range of multiple co-relation coefficient (R) is :

(A) =1tol
®) Otol

© Otow
©) -=tocx

From the following which one is also called "Root
Mean Square’ ?

(A) Standard Deviation
(B) Mean Deviation
(C)  Quadratic Mean
(D) Standard Error

54. If A and B are two matrices such that AB=A and
BA=B then B?is:
(4) B
B A
© 1
® o
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54.

7 FaeRh 256 S 3BT T 1 36 o9 9 &9 faa 7w

T = JG STgi i
29

&) Tog

B) 58
_2_1”

© 256

D) 65

1 § 9 -1 Uy e g ?

(A) Y1234 = Vi3

B) V23 = Va3

© va=vs

O} V123 = Y132

SO FE- T O (R) i | BRI
(A) —191

(B) 0¥1

© 08w

@ =¥

et # | -1 Y e ot el Sl § ?

(A) YA fo=em
(B) A fome™
© feurda e
Dy A

Ifg A B S 3R € I AB= ATUIBA =B, T
B2 S &

® B
® A
© 1
® o
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55.

56.

57.

58.

d
Ify=nx 1-22 then—yis:

dx
x
A
A) 12
2Jc2

® 1- x2

1-— 2x2
© -2

2% ~ 1

®  [_2

I (Se?-" —x 2 4 é) find the value.
x

5 92, 2
2e® 1+ Z r4logx +
@ e - ogx+c
2 _ 2
5e“ — = +4logx +
(B) < g X C
© 5¢X+ % +4logx +c

5 oy 2 4
(D) ~2—e +;+x—210gx+c

If P,=2x+1 then at x=3 the producer’s surplus

is:

A 7
2x +1
3

© 9

® 21

If a sample of 100 is to be taken from a population of
1000 farmers consisting of marginal, small and large
farmers, which of the following will be most
appropriate sampling method ?

(A)  Simple random sampling

(B)  Cluster sampling

(©  Stratified random sampling

D) Systemaﬁc sampling

112-Eco. 1I

55.

56.

57.

58.

A
(A) -2
2x2
®) 1—x2
1-— 2x2
© 1_ 2
2¢% -1

S
y

I(5e2r_21—2 + ijwmmaaﬁfmr
x

5 oy 2

—e™ + —+4logx +c
@ 5 " g

2y 2

5~ — = +41 +c
®) L T dlogx
© 5e2x+§+4logx+c

5 3 2 4

—e +—+ < logx+c
(D) 2 X 7 9%

X

AP, =2x + 1T x =3 IS ! T=d Frawife |

A 7

2x + 1
®
© 9
o 21

g 1000 frami ) wmfe faad dmm, o sk e
foram vt B, afg god 100 fHaml =1 ww wives
foran < © < el sugea wfae=as Ofa deft

A) W A yiq=aT

(B) FIE qfa=TT
© wed agies vfaegs
(D) shHEG A=A

v



59,

60,

61.

17 2
For the following pay-off matrix A= |6 2 7
016
solution of game is:
4
@& 70
5
© 4
1
® 5

Input-output analysis is not based on the
assumptions given below :

(A)  Fixed input coefficient

(B) Constantreturn to scale

{©)  Inopen model the value of final demand is
endogeneously determined

(D) Both (B)and (C)

Which is not correct from the following ?
{A) If in the optimal solution of primal the
decision variable is non-zero then the value

of corresponding slack variable will be zero

in optimum solution.

(B) If in the optimal solution of primal the
decision variable is zero then the value of
corresponding slack variable will be zero in
optimum sclution.

(©)  The value of objective function of primal in
optimal solution is equal to the value of
objective function of dual in optimum
solution.

(D)  Duality theorems state about the relationship
of decision and slack/surplus variable.

62.  Feasibleregion:

{A) Satisfies the structural constraints only

(B)  Satisfies the non-negativity constraints

(©) Satisfies the structural and non-negativity
constraints both

(D)  Does not satisfy the structural constraint but
satisfy the non-negativity constraints
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17 2
e U-afiE B A= |6 2 7| % fau@a =

01 6
B B
4
@ T
6
® 7
«© 4
1
@) 3

TE-arEeqe favdmm fr= § € SF- wea W
TR E € 2

() TerRTgR s

@) TAE % Feer wfaea

© T HEE | sif<m A5 sl Hed Hied % A=l
g fruffa g

© (B C)I

frefafaa § s9-0 98 & 82

(a) afE TEES Y % ST gal | R =
-3 e T 2 @ Sy TUW F
eIy e H Tolsh o 1 T[od I e |

®) Ifs weHe Wem % eTgEReaH gl | o e
1 T Y § O ST U % STIEeH
%o T Wit = Wl oI E B

(C)  TTEHE F Aed-TheT ol ATHEITH Hod T3
% W& Bl o STRCTH Yod & Had e
BT

D) I WHE Fo =X e R/ S W H
gy % N S ¥

e &1 ¢

A) T TS Wiae] i T 2 |

(B) STRUTHAT 3 Wiaril # U= FT@ T |

©) TR SR SRR QA o Trde i
TR AR

(D) AR Yiqam| ol T 8] il § T
TR & Wfeerel 1 T i ¢ |
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63.

o4,

65.

Two demand functions of a discriminating
monopolists are :

X,=32-04 P,
X,=18-0.1P,

And total cost function (TC)=50+40X then the

profitmax. outputsold in marketare:
(A)  X,=8,X,=7

B) X;=7 X,=8

© X;=10,X,=15

O X, =15 X,=10

Which is not correct from the following ?

2
A) dy _ 0 and 4y 0 stationary point of
dx dxz
inflection

(B) d_y = () necessary condition of maxima

dx
2
© d_g >  convex downward
dx
2
D) 4%y < 0 convex downward
dx?
If y=a* x? then <= is:

dx
(A)  a'x* l(a+xlog.a)
B) a'"lx271(xlog.a)
(O a*x?(atxlog.a)

X

a a1
0 & fatx

X
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63.

64.

65.

7t Tk faderyes TR % AU S s=ml & 9
e T UFR T ;

X,=32-04P,
X,=18-0.1 P,

3R e @[ FEH (TC) =50 +40X T & o4
SfahaTaRo F a1 fast @ A ©

A)  X,=8 X,=7

©  X,=10, X,=15

D X,=15, X,=10

Y sh-g 9 A8 &7

2
@) Y g LY o ferTwmeE g @
dx dx?

gl

® Y _ i e #

dx

© @ > ( e ¥ e
dx

2
O Y < FR R
dx?

"’Jﬁ«’y=a—"xa%T'ﬁ ? B

x
(A) a'x® l(a+x log a)
® a2 (xloga)
(© a'x?{a+xlog.a)

X

a .
D) —5 +atadd
x



66.

67.  Which of the following does not match ?
(A)  J.R.Hicks - Capital and Growth
B TW.Schultz- Transforming
Traditional Agriculture
(© EH. Phelps - The Economics of
-Brown Labour
(D) R Nurkse - Choice of Technique
QS. Who is the writer of ‘In defence of Globalization’ ?
(4) Jagdish Bhagwati
(B) J.M.Keynes
(©  Schumpeter
(D) Samuelson
69.  Incase of Giffen goods, the demand curve will be:
(A) Horizontal to X axis
(B) Backward falling to the left
()  Upward sloping to the right
(D) Downward sloping to the right
112-Eco. 11
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If A={3|and B=[456] then ABis:

)

®)

©

1

78

15

6

2 4

35

16

"8 10 12
12 15 18
—4 -5 -6
8 12 -4
10 15 -5
|12 18 -6
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66.

67.

68.

69.

afg A = é A B=[456] A ABTI :
1
K
) _165
(2 4
®) iz
(8 10 12
o 55
"8 12 -4
® | e
Frfafas § @ = ¥a 58 T §?
(a) S.oR. feed - Sfea U 0y
(B) <.THY, Yoo - THHHI fevma Tiwer
(€ .09 The-918 - 99l ALY
(D) TR T - qhiieh &l farweq

‘In defence of Globalization’ Sl T GH SIT & ?

(A)
(B)
©
)

SIETY HTerdt
ERCACans|
LR

HysTeTeH

ﬁﬁﬂaﬁ%mﬁﬁ,ﬁnwm

(&)
®)
©
)

S, T a1y

o1 3R W i 37T et gl
e 3R SR = 3R gaH
FfE TR = TSI g gam

P.T.O.




70.

71.

72.

73.

74.

75.

In case of inelastic demand, an increase in its price

will cause the total expenditure of the consumer to :

(&)
®)
©
D)

Remain the same
Decrease
Increase

Any of these

Which of the following measures of central tendency

can be computed from a cumulative frequency

curve?

(A)  Arithmetic Mean
(B)  Geometric Mean
© Mode

D) Median

There will be only one regression line in case of two

variables if :

)
(B)
©
D)

r=+1
r=0
=.5
None of these

Most important factor causing variations in a

seasonal time series is :

(A)  Technological change

(B)  Population growth

() Change in fashion, weather and social
customs

(D)  Alltheabove

Which of the following is not the characteristic of

public goods ?

(A) Externalities

(B)  Exclusion principle

() Nonrival consumption

(D)  Nondivisibility

Which of the following is the most suitable indicator

of least aggregate sacrifice principle ?

(A)
(B)
©
©)

Equal absolute sacrifice
Equal marginal sacrifice
Equal proportionate sacrifice

None of these
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76. When a government spends more than its revenue
collection, such excess is known as :
(A) Revenue deficit
(B)  Fiscal deficit
(C)  Primary deficit
(D)  None of these
77.  Which of the items will be called as a visible item in
the balance of payments of a country ?
(A) Exportof the commodities
(B)  Freightcharges
(©)  Capital investment by the foreigners
(D)  Government expenditure in foreign countries
/8, Which of the following sectors contribute maximum
to India’s GDP ?
(A) Manufacturing
(B)  Forestry
(&)  Agriculture
(D)  Services
79.  Conceptof ‘Backwash effect’ is attributed to :
(A)  Gunnar Myrdal
(B) H.Leibenstein
© AW.Lewis
{{)  R.Nurkse
QO. Blue Revolution is concerned with :
(A) Tishery
(B)  Agriculture
({C) Oilseeds
(D) Milk and milk products
81. For which activity has Kailash Satyarthi been
chosen as one of the winners of 2014 Nobel Prize
for peace?
{A) Fightagainst terrorism
(B)  Fightagainst communal violence
(©) TFightagainst environmental pollution
(D) Fight against child labour and trafficking
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76.

77,

78.

79.

80.

81.

T BT TR S T HUE § a1fusw = i g,

i TH TE FI AT ) S SR
(A) T =R

(B)  TITRINI el
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(a) fafmm
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© T
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“Sera THIE T SR 39 AR
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© T qEH
D) &R THY

(A) A

®) H

© fam=s
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82

83.

84.

85.

86.

Where is National Rural Development Institute
situated ?

(A) Patna
(B) Simla
(C©) NewDelhi
(D) Hyderabad

What is the criteria of determination of Dearness

allowance of employees ?

(A).  Per capita income

(B) Consumer price index
(© Standard of living

(D) Nationalincome

What s the full form of GST ?

(A) Goodsand Services Tax
(B)  General Subsidy Tax

(©  Gradual and Slow Tax
{D) Noneof the above

Wantlessness definition of Economics is related to

(A) Keynes
(B) Marshall
(O Robbins
Oy JK Mehta

From the following table test the effectiveness of
vaccination in preventing the attack of small pox.

Attacked | Not attacked
Vaceinated 31 469
Not vaccinated 185 1315

Table value of x2for 1 d.f, at 5% level pd significance
is 3.841.

(A) Vaccineis effective

(B)  Vaccineis not effective
(O Noneed of Vaccine
(D) None of the above
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® foen
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(A) i =t o

B) I T TEHE
© ST =R

D) T A=

GST =1 ol & 7 &2

(A)  TSH Uz HfHHE T
(B) SITe wfeuel T
© IgH UE wh T
(D) W H H wE off TE

THRMITYFT T Wantlessness TRUTH § Fafad ? -
(A) =

(B) TR
© W
D) .. Hew

T & B ! Uk H SIhTehiol i YHIEgierT I
e e e | &+

THeN Tohan T [ g9eT A1 fehal T
Ca 31 469
SRt T8I 185

1315

1 d.f s FoTu 2 o1 et /M, 5% W pd 98 ™
3.841 %1
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87.

88.

89,

90.

91.

Incidence of a disease is such that on an average 20
percent of workers suffer from it. If 10 workers are
selected at random, find the probability that not more
than 2 workers suffer from the disease.

Ay 432

® .134

© 6778

(D) 824

A survey conducted in a University revealed that
the average age of 1000 P.G. students was 20 years
with a standard deviation of 2 years. Estimate the
number of students in the age group 18-24 years
within X = o =.3413,

(Given area

X + 2¢ = 47725 (oneside.)
(A) 514
(B) 988
© 677
D) 819

Which of the following terms is not used in Linear
Programming problem ?

(A)  Objective function

(B)  Optimum solution

(C)  Feasible solution

(DY  Concaveregion

Given - Covariance = 20, variance of X = 36 and

variance of Y = 16, value of r will be ;
(A) .83
B) .45
< 97
D) .38

Demand function for a commodity is given by
equation P =50-2Q while total cost is given by
TC=160+2Q. Value of equilibrium output and
maximum profit will be :

A) 12,128

By 20,135

(© 100, 56

(D}  None of the above
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(A) 432

®) 134

© 6778

(D) 824

o Tavafagaem o T T o wdert | 76 wen §
% 1000 A<t B #1 s ong 20 af ot R A
foaem 299 a1 18-24 96 & 7g a7 § S 1 WE&N

w1 FAA A (fem T # X+ o = 3413,
X + 20 = 47725 (T TF) & Hial =1 &471)

(A) 514
(B) 988
© 677
©) 819

@t g wee # frefates § @ fem ws &
EEREERER IS IG R

(A) SR e

(B) =™ HHTHM
© == qEYH
(D)  oT9qe &3

fean T ¥ - WEUETO = 20, X 1 TEU = 36 3R
Y = WEOT = 16, r 1 HH 207

(A) .83
®) .45
© 97
@) .38

ToRH1 =g o o i e T P =50 — 2Q TR
fom S & S@f F& @ TC = 160+ 2Q SaRT <&
it € | Hge Seamed iR SiftreRa Ty 1 e 2

(A) 12,128
(B) 20,135
© 100, 56
(D) € 4 g T
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92.

93.

94,

95,

96.

Demand function P =60 — 2Q) when the market price
is Py=12. What will be the value of consumer’s

surplus ?

(A) 400
By 105
© 576
D) 680

Who among the following said ‘Inflation is

everywhere and always a monetary

phenomenon’ ?

(A) JamesTobin

B) JohnMKeynes
(C) Milton Friedman
(D)  Samuelsom

Which among the following is not a characteristic
of stagflation ?

(A) Highunemployment
() Highemployment
() Highinflation

(D) Low growth

In balance of payments account, the transfer

payments are included in which of the following ?
(A) Capital account
(B)  Currentaccount
(©) Service account

(D)  Official Reserve Account

Which of the following was/were assumed in the
neo classical growth model as propounded by
Solow ?

{a}  Avariable saving rate

(b) A constant population growth rate
(©  Avariable capital output ratio
Select the correct answer :

(4)  Only (a)

(B) (a)and (b)ondy

©  Only(c)

O (Band(0)
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(A) 400
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© 576
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© HarEm
(D) HER AR @ U

B g ufaafes wa s faem Atz o Fefafad
T § & J/Q TH T o1 ?

(@) e TRERE oud &
®) U R s 9fg &t
(€ Uk IREdAT YSit ScieT ST

HE T H I F
(A) % (a)
B (a) AR (b) et
©  Fe (o)
D)  (b)3()



97.  Harrod Domar model does not consider :
(A)  Actual growthrate
(B)  Critical minimum growth rate
(©  Warranted growth rate
(D) Natural growth rate
98. Population growth rate is 2%, National income
growth rate is 6%. What will be per capita income
growth rate ?
(A 3%
O B) 12%
O %
D) 8%
99. Ifinvestmentexceedsinan economy :
(A) Intended savings would fall
(B) Intended investment would fall
(©)  Intended savings would rise
(D) Intended investment would rise
0100. Anincrease in tax rate would cause :
(A} LM curve toshift up to the left
(B) LM curve toshift down to the right
(O  IScurvetoshiftup to the left
(D)  IScurveto shift down to the right
-o00o-
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e SR wiea ¥ faam & &
(A) Oefae famE
(B) el R fen <
© TR faEmE
D) T fam T

e 9fg 2% §, T I Frg We% 21 ufa

=i o gfhg ST a1 Bt 7

A 3%

B) 12%
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O) 8%
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(a) sfe3d s=q iR soh
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